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Within this booklet you will find my best guess
at what might be on the next edexcel gcse
maths paper.

There may be other topics that appear on
paper 3, so please ensure that you continue to
revise all topics.

The paper consists of 27 questions totalling 80
marks.
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1 Round 37.68 to 1 decimal place
Wl
(Total for Question 1 is 1 mark)
2 Write down two factors of 15
':/] \,},»
) i ¥
(Total for Question 2 is 1 mark)
| 3 Write down the value of the digit 5 in the number 450.98
i \/\/V (A
(Total for Question 3 is 1 mark)
4 Simplify
6a + a — 4a
(Total for Question 4 is 1 mark)
5 Work out 20% of 180
o)
5k
(Total for Question 5 is 1 mark)
6 Solve > = 5.5
(Total for Question 6 is 1 mark)
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7(a)  Write down the mathematical name of the shape below

(b) Using the shape above,

(1) Write down the number of edges

I

()

(i) ~ Write down the number of vertices

p————

( ( TELVZA

Trwagilas pism

\
\J

(1)
c_;I
(1)
b
(1)

(Total for Question 7 is 3 marks)
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8 AC and BD are two straight lines.

2x° 64°
A B c
(1) Work out the value of x
Ixrel =60
sy = b
(N - .
5o 58
(2)
(i)  Give a reason for your answer.
Angel o Shrasgnt (e = (80
\ \
)

(Total for Question 8 is 3 marks)
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Write down the number that is on the turned over card.

(Total for Question 9 is 3 marks) |

-

Four cards have a number written on them. One of the cards is turned over.
The mean average of the four numbers is 7.5.
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10(a) Expand 3(2x —4)

bx-12.

(1)

10(b) Factorise fully 12x + 40y

10(c) Simplify  (a®)°

®
(L
(1
10(d) Solve 5(x+8) = —11x
Sy 4+ 0= -l
X r4¢0= ¢
(o =0
X = - 4 >
-

(Total for Question 10 is 6 marks)
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There are red, blue and green counters in a bag.
The ratio of red counters to blue counters to blue countersis 5: 6 : 7.

Write down the fraction of the counters that are Blue.
Give your answer in its simplest form.

© (

(Total for Question 11 is 2 marks)

12

The recipe for 12 cookies is given below

12 Cookies | o (Vo
| lllég\of/ﬂour | COO 9
| 800g of butter i ¢« U /
} 500g of sugar ‘ 72 0 \_/

Amy is going to make 18 cookies.
Work out how much of each ingredient is required.
Give your answers in grams.

| 7\ 0
flour | D (@,; U g

butter

sugar

e O
[ S0

(Total for Question 12 is 3 marks)
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13 The frequency table below shows the favourite sport of 45 students
o seort JEequenly |
athletics | 13 X $§ (O4

cyeling 17

136

q |
<

SWimMming

(wa]
X
>
@A
£

. ‘ T —— — L,
gymnastics 7 : ) o

WO=4S =9

Draw an accurate pie chart to represent this information

-’F-“d.

-%M-Q—‘_'_—L——'——F'-

(Total for Question 13 is 3 marks)
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14 360 students have some homework.

150 of the students were boys.
12 of the 49 students that did not do their homework were girls.

(a) Use this information to complete the frequency tree.

did do homework

did not do
homework

did do homework

did not do
homework

®)

14(b) One of the girls is chosen at random.
Write down the probability that they did do their homework

2)

'i (Total for Question 14 is 5 marks)
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15 Below is a cuboid

rd

g

S

/J
20 ¢m -
= / 40 em

20 cm

Work out the volume of the shape above stating your units.

)/Z 0 x Z O X (~(—- 0= ( é OOOcm

(Total for Question 15 is 3 marks)
. 4}"";
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(a)

(b)
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ABC is a right-angled triangle.
AB=2x+ 4 cm

BC=5xcm
A
2x + 4 cm
B C

5x cm

Work out the area of the triangle.
Giving your answer in the form ax? + bx cm? Where a and b are integers

/ \ ¢ | e S e =
FEL N gl P & o k) N el A |
cm?
(3)

The area of another shape is 4x? + 6x.
If the value of x is 3.
Work out the value of the area of this shape.

)

(Total for Question 16 is 5 marks)
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17 Mr Scott’s garden is in the shape of a semi-circle.

The diameter of the semi-circle is 12 metres.

A

\4

12m

-~

6 m

He is going to cover 46% of the garden with flowers.
The remainder of the garden will be covered with grass seeds {O O 2. 3 () =) Lf

A box of grass seeds covers 4m? and costs £5.99

Work out the total cost of the grass seeds to cover the remainder of his garden.

OXf_ axe

-
[

X —  on.C 7
Steo Of (6T 50 St m

{ }Sﬂ/(& )

N

(Total for Question 17 is 5 marks)
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18(a) Convert 3.45 x 10* into an ordinary number

18(b) Convert 0.00672 into standard form

18(c) Work out the value of

(1.3 x 10%) + (6.6 x 103)
(2.45 x 10?)

Giving your answer in standard form

14500

()

672% 10

1)

)

(Total for Question 18 is 4 marks)
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‘;
‘ L,
—4 J -2 o 2 4 5

Describe fully the single transformation that maps Shape A onto Shape B.

Leflochun in X-00c)

(Total for Question 19 is 2 marks)
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(a)

(b)
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The exchange rate for pound sterling to euros is 1 : 1.17

Charlotte is going to travel to Spain, that uses the Euro currency. She wants to convert
£350 into Euros.

Work out the amount of Euros that Charlotte will receive.
7€

w i TR
D~
-%MVQX

x ¢ \‘\ [

AN

£407-50
2)
The exchange increases to 1 : 1.18. How will this affect the answer to part (a)

(narlotte wilk

g

Nt more Euros

(1)
(Total for Question 20 is 3 marks)

21

Make x the subject of the formula

y=x*=3p
. N7
il 4 .;»“)(/
d.,.20= OC°"
k,} 4 l/, - _)(_,
\J N
-
5 Z 0

(Total for Question 21 is 2 marks) |
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22(a) Margot is going to play one game of snooker and one game of pool.
The probability that Margot wins a game of snooker is 0.9.
The probability that Margot does not win a game of pool is 0.3.

Snooker Pool

2)
22(b) Work out the probability that Margot wins at both snooker and pool.
_—— = F
O-4x0 1= O-65
(2)

(Total for Question 22 is 4 marks)
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23 Shape BCDEFG is an irregular hexagon.
Lines AC, HG & IE are parallel.

A — C
1120
H 1 5y
qi\- D
A e noke
angs aré
equik
932 Tle E
1 F

Worl out the ize of angle BCD
(N-1) x(80
(6-T)x | 89

(¢ x| gC
-120

290 - [12-155- -7 -2357 >

(Total for Question 23 is 5 marks)
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24 The scatter shows the maths scores attained by some students in Year 11.
r 3
100 =
90 aan s
80 | H
70 |
60 | Xl - -
4 | ¥ i N [
- ; AN i1
Mark 5o I -
g i 3} B .
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30 |4 -
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O ] | ] § | | ;
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Hours spent revising

24(a) Daisy scored 80 marks after revising for 4 hours.
Plot this information on the scatter graph

(1)
24(b) Sadie revised for 9 hours. Work out an estimate for the mark she would achieve
63
2

24(c) Daphne says that using the graph to estimate the mark achieved for somebody
spending 18 hours revising would not be appropriate. Explain why?

A8 hows O pet wie e olaka Set

(1)

(Total for Question 24 is 4 marks)

. J/
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The table shows the heights of 60 trees

 Hejght fr metres) | Frequency
0<h<d 13
4<h<8 24
§<h<12 15
12 < h<16 6
16 < h <20 2

'y
20 :
Frequency |- :
0 T TN O Y O T ‘ »
0 g 12 16 20

Height (/i metres)

Write down 2 things that are wrong with this graph
L He has yed the end ponk yather
Hoa the  pudpoint

2 T ng) SVould v Sty C@/M nat o

(Total for Question 25 is 2 marks)
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26(a) Simplify fully

26(b) Expand and simplify

¥ = b~
() T

() -

(4a*bc™3)°
4 S—._" ((qu

(aby = & -

16246%°b° ¢ "

2)

3(2x + 4) t— 2(x — 1)

é\ )’\ W ( /Z, o

75C + |

(3

(2)
26(c) Factorise fully
4x%y3 + 6x3y
Z‘ / C ; L A
ZJ-?(Lv f%ﬂ)
(2)
26(d) Express on the number line
—-4<x+1<5
s ] - ~|
“Fex 5%
T T T T T T T T T I | | ——
-5 -5 -4 -3 =2 -1 0 1 2 3 4 5 6 X
()

(Total for Question 26 is 8 marks)
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27 A number, n, is rounded to 2 significant figures.
The result is 26.
Complete the error interval for n

t0-S

jSS =n< Zéé/

(Total for Question 27 is 2 marks)




